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A knot diagrarrﬂ C2 Ce cr Cs5 1 Ca
Ideals for irreducible component#ﬂ)f Xpar
I = (u” +2u® —ut 4 203 —u® — 1)

I = (u" + ' + 400 + 40 + TP+ Tu” 4 50 + 5’ +ut 4 e+ 1)

* 2 irreducible components of dim¢ = 0, with total 19 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI = (u" 4 2u® —u* +2u® —u? — 1)

(i) Arc colorings

)
ﬂz

ag =

a7 =

;)
1)

(o
(
(-
(
S
(5
(-
(-
(-

az =

ag =

a5 =

u3
u3

—ub —u —|—1>
2

ap = ub —2ut —u

—uS 4w -t 2 -t +u
wt+u —2ut 2 — 2P+ u—1

—uS —u —u —|—1 )

ayq =

ag = w—u? —ut—ud 41

—ub —ud —ut Jr 1
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(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® + 4u® — 4u* + 8u® — 8u? + 4u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,Cs W+ 3uS 4+ =20t + 20+ 3u Fu+2
€2,C3,Cp Vot et 2+l +1

Cs
c7,C9 w4+ 4u® + 8ud + Tut + 20 — 32 —2u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,C5 y" — Ty® 4+ 17y° — 16y + 6y° + 3y* — 11y — 4
€2, 3, C6 y7+4y6+8y5+7y4+2y3—3y2—2y—1
Cs
cr,Cy YT +12° + 3yt + 2293 — 3% — 2y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1CS)

Cusp shape

u=0.468927 4 1.0085101

—2.15041 + 6.004841

—4.26608 — 8.086381

u= 0.468927 — 1.0085101

—2.15041 — 6.004841

—4.26608 + 8.086381

u= 0.824481

—3.34763

—1.23740

u = —0.391915 + 0.6310801

0.40799 — 1.467761

1.41234 + 4.854241

u = —0.391915 — 0.6310801

0.40799 + 1.467761

1.41234 — 4.854241

u = —0.489252 + 1.2399207

—10.5657 — 9.47461

—7.52754 4 6.218551

u = —0.489252 — 1.2399207

—10.5657 + 9.47461

—7.52754 — 6.218551




II. 1Y = (u'? + u' + 4u’® + 4u® + Tu® + Tu” + 5u® + 5u® + u? + u® + 1)

(i) Arc colorings

1
ag = 0
0
a7= u
1
as = _u2
—u
as = \ud+u
—u3
ag = (u5+u3+u>
ud
a5 = ud 4+ u
—ub —ut 41
a; = —u6—2u4—u2
—ud —2u" — w2l +u
a4 = —u? —3u" -3 +u
—ul0 — 308 — 4wl — - u+1
ag = —2u11—u10+~-~+u—2
—ul0 — 3¢ — 4wl — ittt —u+1
ag = —2utt — 0y -2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® — 12u7 — 12u® + 4u® + 8u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,C5 (ub —u® — 3u* + 2u® 4+ 2u® + u — 1)?
€2, C3, Ce w2 — gt 4010 400 78 — 7T 4 5u8 — 5 4wt — B 1
Cs
c7,C9 w2+ Tt 2 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Cs (y® — 7y + 17y* — 169> + 69> — 5y + 1)?
Cc2,C3,Cq y12+7y11++2y2+1

cs
cr,Cy y? =5yt 4y 1
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Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

0.525382 + 0.3353201

—0.32962 — 1.972411

—0.57572 + 3.684781

0.525382 — 0.3353201

—0.32962 + 1.972411

u = —0.386547 + 0.8991251 —0.32962 — 1.972411 —0.57572 4 3.684781
u = —0.386547 — 0.8991251 —0.32962 + 1.972411 —0.57572 — 3.684781
uw= 0.206575 + 1.0620801 —4.02872 —9.41678 + 0.1

u= 0.206575 — 1.0620801 —4.02872 —9.41678 + 0.1

u = —0.869654 + 0.0499311 —6.98545 + 4.592131 —4.58114 — 3.204821
u = —0.869654 — 0.0499311 —6.98545 — 4.592131 —4.58114 4 3.204821
u= 0.460851 + 1.2264501 —6.98545 + 4.592131 —4.58114 — 3.204821
u= 0460851 — 1.2264501 —6.98545 — 4.592131 —4.58114 4+ 3.204821
u = —0.436607 + 1.2537501 —10.9500 —8.26950 + 0.1

u = —0.436607 — 1.2537501 —10.9500 —8.26950 + 0.1

U

U

—0.57572 — 3.684781




ITI. u-Polynomials

Crossings u-Polynomials at each crossing
6 _ .5 4 3 2 2
¢1,Ca,Cs (w” —u’ —3u” 4+ 2u” +2u” +u —1)
(" 4 30+’ — 2ut + 20 4+ 3u® +u+2)
C2,¢3,Co (u” 4 2u° +u +2u® +u? + 1)
8 C(u? =t 40t — 4 7B — T 5ub - 5u® -t —ud 1)
7, Cy (u” +4uS + - —2u — ) (u? + Turt 4 4 20 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
¢1, 64,05 (y® = 7y° + 17y" — 16y° + 6y° — 5y + 1)°
S(y" = TyS + 1795 — 16" + 6y° + 3% — 11y — 4)
C2,C3,C6 (y7+4y6 e — 2y — 1)(y12+7y11 +~--+2y2 +1)
Cs8
¢7, Co (" +120° + - =2y — D)y =5y - Ay + 1)
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